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Q is R's mother. g is RS

, ) ter,
P 1s diﬂugh tOP?

brother. HOW is S related
(A) grandfather

(B) Brother

(C) Son

(D) Father

f individuals

It is the organised aggregate 0 g

who interact without giving significan

hierarchy S
(A) Reference groups (B) Horizontal group
(C) Vertical groups (D) None of the above

The H.C.F. of two expressions p and q is 1.
Their L.C.M. is

) = (B) pq

(C) (p-4q) (D) (p*+4q) I'EI i
Pacific Step Up is the Forum related to

(A) USA (B) Japan

(C) Australia (D) India

Animals are named as per
(A) International Zoological Nomenclature

Committee
(B) International Zoological Nomenclature
Organisation
(C) International Zoological Nomenclature
Agency
(D) International Code of Zoological
- Nomenclature

A isthe functionality expansion
.Of memory token, incorporating one or more
integrated circuits into the token itself,

(A) Smart token (B) Digital token
(C) System token (D) Memory token

Formula One F1-British Grand Prix-
Silverstone Circuit, Silverstone, Britain which
was held in JuyJy 18, 2021 wag won by

(A) Mercedeg’ Lewis Hamilton
(B) Tekwilson

(C) Robert D'silvg

(D) Bhavigh D'sozg

2.
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b e s A E
P R
(©) FeA U T8 (D) H“ﬂi?ﬂ
3, it p o q A AETH FE LR, Aoy,
e @ €
(ﬂ) __1_. (B) Pq @
pq ﬁ
C) p-q (D) (p +q)
4, tffes RT3 | wafi wiw
(A) 4.T8.T, (B) SmaT
(C) artegferan (D) T

5. el % 19 fohqeh TTER W 14§ 7
(A) ey ot Rt widfy
(B) SfaRisda sroft Arverter @
(C) FeRTsda wroft sreapeer et
(D) NToft e 1 ety s
— A H & T srfir T
wfsrt i il e aret Aur o @
mf'ﬂ:lﬂ-‘nﬁ'{?l'[{%'
(B) fesfieet 2

(A) T I

7. WS & F1-fafewr oie aw_fgﬁreﬁ‘rm
Q' —
m&‘?ﬁﬁw 18, 2021 ¥ ¢
(A) wifew Sy dieen
(B) ey
(C) W9 Sy
(D) wrfern e
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rom the given answer fi
gures, select the
ne in which the i
ki, question figure is hidden/ ‘

4o ¥ 18

Which Section of IT Act, 2000 deals with
legal recognition of digital signature T

(B) Section 6

&

(A) Section 5
(C) Section 4 (D) Section 3

Who was the author of “The Spirit of Laws” ?

(A) Montesguieu
(B) Rousscau
(C) Diderot

(D) Voltaire

aximum number of pieces into
an be cut into 19 cuts ?
(B) 412
(D) 145

What is the m
which a cube ¢
(A) 316

(C) 392

In Microsoft word is & mcans of
presenting information in an orgamlzcd and
attractive manner that displays text in & gri

of rows and columns of cells.

(A) Chart (B) Table
(C) Word Art (D) Picture
romoting communal

It has helped in P v

harmony and in keeping national integr
at the forefront.
(A) Imperialism
(€) Secularism

(B) Both (A) and (D)
(D) Orientalism

Who was the author of “Divine Comedy" ?

8. ﬁﬂmmﬁﬁ,mmgﬁqmﬁm
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srgfy h b /wfa d |

e |

9. ard. @ wfuftam, 2000 3 fre v & fafres Twmar
) T AT e § 7

Plato
A) Romances (B)
:C)) Aristotle (D) Pante Alighieri

(A) U 5 (B) WTT 6
(C) w4 (D) YT 3
10. --ammm»#mmu
(A) HiewR, .
(B) ¥
() T %ﬁ
(D) Sreedt
11. mmﬁlgmmmmyﬁﬁmw
waa 8 7
(A) 316 (B) 412
(C) 392 (D) 145
12, R 7€ A @maﬁqmmﬁmm
Wmﬁwsﬁ@wqmaﬁwi,ﬁmﬁ
ﬂﬁﬁq@\ﬂaﬂlﬁi\ﬂuﬁtf&E%mﬁaﬁmti
(A) T (B) &
(€) a8 31 (D) frert
13 mwﬁﬁmmw’rwmﬁamwﬁmwﬁ
mmﬁﬁwﬁhﬂimrﬁtt
(A) SRS (B) (A 3 O ¥
(C) e (D) SR
14, "WW"W‘FW“"““
™) (B)
(D) ﬂﬂ.ﬂ!ﬂm
M24

Download from www.MsEducationTv.com

oy



15.

16.

17.

18.

19.

20.

21.

22.

23,

i is
Density of the unit cell 1

zMN
A) d Ma® (B) d= ——;—,—J’“
TN,
N D) d=-22
(c} d = -a—'—"Ma' [ o aaNn
z
The Oath of Office to president 18

administered by

(A) Speaker of Lok Sabha oo
(B) Chief Justice of Supreme 0
(C) Prime Minister

(D) Vice President

rt of India

i - the square of
If a number is subtraci':cd from o
its one-half, the result is 48. The square ro

of the number is

(A) 6 (B) S
€ 4 (D) 8
s not the option of the alignment tab.
(A) Left (B) Justify
(C) Middle (D) Right

From which language is the term “human”
derived ?
(A) Sanskrit
(C) Latin

(B) Persian
(D) Greek

Find the missing term in the following series.
1A2, 3C4, 7G8,
(A) 13P14

(C) 16P17

(B) 14015
(D) 15016

Who among the following Indian born person
has been appointed as Chief Economist of the

4. International Monetary Fund ?

W (A) Shankar Acharya
(B) Bina Agarwal
(C) Gita Gopinath
(D) None of the above
In Haryana, ICAR-National Bureau of Animal
Genetic Resources (NBAGR) located in
(A) Delhi (B) Karnal
(C) Jind (D) Hisar
Morpholcgically and

M24
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(©) @ 1 i
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1A2, 3C4, 7G8,
(A) 13P14 (B) 14015
(C) 16P17 (D) 15016
21. P & i s e e ) SO
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7.

30.

31.

The port which is known as ‘Queen of the
Arabian Sca'

(A) Marmagoa
(B) Mangaluru
(C) Kochi

(D) Mumbai

The branch of Geography which is devoted
to the study of landforms, their evolution and

related processes is
(A) Ecology

(B) Geomorphology
(C) Hydrology

(D) Climatology

ol
@iiE

Tenure of judges of International Court of

Justice is
(A) 6 years
(C) © years

(B) 8 years
(D) S years

In Microsoft Office Word, 2003 is
a shortcut key to select a entire document.
(A) Ctrl + A (B) Shift + Up

(C) Shift + Home (D) Shift + End

The output per unit of variable input is

(A) Average product
(B) Marginal product
(C) Average cost
(D) Total product

If you deduct depreciation from the Gross

Investment, we will get
(A) Final goods (B) Net Investment
(C) GDP (D) None of the above

f 100 books is equal to the

Cost price O _
0 books. The gain or loss

selling price of 6
percentage will be

(A) 665 % (B) 66%
© 663% (D) 665%

Which of the following is types of electronic

payment mode ?
_ (A) credit card
(C) e-cash

(B) e-cheque
(D) all the above

.B-

24,

26.

27.

29.

30.

31.

(A) T

(B) WTEE

(C) ®f=x

(D) Ht

\fﬁaaﬁlﬂma’nﬁﬁtw.mmm

safir s & sterr ¥ v wafia 8

(A) ariferfeh)

(B) ¥-3mfa P

() w&

(D) ey farm

mmtmmﬁmmt

(A) 6 (B) 8 T

(c) 9 ¥ (D) 5

maﬁaaﬁ,tzoosﬁ——wm
fRaae AL -

(A) Ctrl + A (B) Shift + Up g%

(C) Shift + Home (D) Shift + End®:

¢ 37T o Wi g T @

() e IR

(B) Hiwid I

(c) 3ftea @

(D) FeT 3T

e Frdy @ eETE S S A <

Pk

(A) 3ifem Tl (B) frat fdw

(C) sh.&d. (D) 3% # ¥ A T

100 &I 1 4 A 60 TEH! & fasra I %
et | @ wif s @ g ?

(A) 66-};% (B) 66%
(€ 662% (D) 662%

4 3
it # @ YT s alid & YT
-7
(A) Wfee ®Td (B) §-9%

) §-%u (D) Jaa et
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32. ThetypeC
Burn' Agric
(A) Intensive farming
(B) Sedentary farming
(C) Shifting farming
(D) None of the above

o

33. GDP stands for
(A) Gross Dollar Price
(B) Gross Domestic Price
(C) Gross Domestic Product
(D) None of the above
ed on the series |
1J K LM
vV WXY Z

34, The following question is bas
ABCDETFQGH
NOPQRSTU

If the letters of the given series interchange
positions, so that A takes the place of Z and Z
takes place of A and so on. What will be the
13" letter from the right ?
(A) L (B) O
(C) N (D) M

35. The Election Commissioner can continue in
office till the age of
(A) 62
(C) 58

(B) 65
(D) 60

86. The Right to Property is simple legal right in
Indian Constitution under Article
(A) 300 A (B) 326 A
(C) 268 (D) 243

37. Deflation may be defined as a state of falling
prices but not
(A) Fall in prices
(B) No change in prices
(C) Zero prices
(D) Rise in prices

38. How much angle does an hour hand cover in
17 minutes ?
(A) 12.5°
(C) 10°

(B) 8.5¢
(D) 17°

M24
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40.

NOPQRSTUV wxy,

7R 7@ SEen ¥ HE T TR T T g
A ¥ T 2 31 G 3R Z H WH WAy

armh of e s Y, A AR 137 sy

(B) O
(D) M

(A) L
(C) N

85, TE oTgw fr T TE WA wERE

(A) 62 (B) 65
(C) 58 (D) 60
36. et iR i v orgede H T EREN 4,
e Tt arfirm & 7
(A) 300 A (B) 326 A
(C) 268 (D) 243
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# oRori e s e § 44,
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©) na @mw
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41,

In this
followec
conclus

Statem
1. Soi
2. So

Conelu
[. All
I1. Sor
(A) On
(B) Nei
(C) Bo
(D) On

15 litre
and th
mixed |
new mi

(A) 16
(C) 15

Five gir
adjacen
not adj
Monika
Then, A
the follc

(A) Sul
(C) Mo

FCFS st
(A) Firs
(B) Firs
(C) File
(D) File

The ba:
creation
(A) RNA
(B) mRI
(C)} Dou
(D) DN

What is
(A) 6 St
(B) Stau

leng
(C) Star
(D) 4 St

Find odc
1,4,9,
(A) 19
(C) 16



In this question, two statements are given
followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.
Statements :

1. Some matters are elements.

2. Some matters are not molecules,
Conclusions :

I. All elements are matter,

11. Some molecules are elementas.

(g]] T%1‘1Ilyhr:t)r'1c:1Lmlitm 1 follows

( cither conclusion 1 nor

(C) Both conclusions 1 and llufti?l]cln?uws

(D) Only conclusion 11 follows

15 litres of a mixture contains 20% alcohol
and the rest water. If 3 litres of water be

mixed jn it, the percentage of alcohol in the
new mixture will be

2
A = 1
(A) 163 (B) 135

() 15 (D) 17

Five girls are sitting in a row. Rashi is not
adjacent to Sulekha or Abha., Anuradha is
not adjacent to Sulekha. Rashi is adjacent to
Monika. Monika is at the middle in the row.
Then, Anuradha is adjacent to whom out of
the following ?

(A) Sulekha
(C) Monika

(B) Abha
(D) Rashi

FCFS stands for

(A) First-Come-Fast-Served
(B) Firat-Comc-Firut-Scwed
(C) File-Come-Fast-Served
(D) File-Come-First-Served

The basic event in reproduction is the
creation of a copy of

(A) RNA (Ribo Nucleic Acid)

(B) mRNA

(C) Double Stranded RNA

(D) DNA (Deoxyribo Nucleic Acid)

What is Heterostemony ?
(A) 6 Stamens of equal length
(B) Stamens attached to perianth in equal

length
(C) Stamens of different lengths

(D) 4 Stamens of equal length

Find odd number out of the following.
1, 4,9, 16, 19, 36, 49, 64, 81
(A) 19 (B) 49
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(A) 163 (B) 182
(C) 18 (D) 17
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A oo A H A PR H a7
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«1,4,9,16, (19, 36, 49, 64, 81
" Y (A?’w“ wite o yg)y 49

(C) 16 (D) 9

(C) 16 (D) 9
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47,

48,

49,

50.

51.

M24

) SULQFLSDY

resistance 1007?
(A) 142.7m
(€) 122.7m

) 1527
) 1127 m

owing theory at?empt d
elationships &n
stions such as

hy they change ?

Which of the foll
to explain large-scale I
answer fundamental qu¢
why socicties form and w
(A) Grand theories

(B) Social theories

(C) Structural theories
(D) Paradigm theories

Which of the following is not a tab under
Format AutoShape dialog box ?

(A) Position (B) Callouts

(C) Web (D) Colors and lines

The Companies Act, 2013 focusses on the

commission of the fraud rather than the
to the affected partjes,

(A) Reslfltmg loss (B) Captun'ng

(C) Punishment (D) None of the above

Read the data given 1,
elo
answer the following un.;OB‘TTd based on it

:z Fz'enda Priya, Reeng Sh
ke 8 A .18, Shwethg
circular table, SIttlnE ~ind ;

Quingy,
sha are

All of them are fa

cing y,
of the circle, € lowardg the Centre

Twinkle is not sittj

ng belwee s
Shlwetha but Someone g ﬁ.r:]gl-llmcy and
Priya sits to the Jefy o st the Broup,
Reena is fourty o the N

o right i
Who is sitting (o (he right of Of Priyq.
tﬁlpﬁya (B) .vﬂﬂﬂh&p
(C) Twinkle hey
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52.

54.

56.

57.

58.

59,

60.

In a row of boys, Akash is fifth from the left

fmd leljil is eleventh from the right. If Akash

; twentififth from the right, then how many
Oys are there between Akash and Nikhil ?
s 29 (B) 15

() 12 (D) 14

If 2805 + 2.55 = 1100, then 280.5 + 25,5 = ?
(A) 1.1

(B) 1.01
(C) 11 (D) 0.11
This Section of IPC deals with ‘Disobedience
to Quarantine Rule’
(A) 271 (B) 272 ®
(C) 273 (D) 270 BN

Complete the series.
1,3, 713, 21,7

(A) 29

(C) 33

(B) 31
(D) 27

One mole of a monoatomic gas is mixed with
3 moles of a diatomic gas. What is the molar
specific heat of the mixture at constant
volume ?

9 3
(A) IR (B) ZR

(C) R (D) 5g

4
When a process is to be executed, it has to
be loaded from the secondary storage to the
mein memory. This is called
(A) Scheduling (B) Paging
(C) Sharing (D) Process loading

In a certain language, MONEY is coded as
68, RACE is coded as 85, then FUNGI will be

coded as

(A) 79 (B) 83

(C) 85 (D) 78

In a hospital, thereis a consumption of 1350
litres of milk for 70 patients for 30 days.
How many patients will consume 1710 litres
of milk in 28 days ?

(A) 85 (B) 95

(C) 105 (D) 59

Find the missing term in the following series,
2.8 10,117,206,

(A) 30 (B) 42

(C) 35 (D) 37

B3.

54.

68.

57.

agl

60.
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et A o AR #, amEnn amd @ ot 8 el
et & rarceat & | af s and & qefreet 8,

7t sty afv Pfeer ¥ o Ree w7
(A) 13 (B) 15
() 12 (D) 14

7R 2805 + 2.55 = 1100, A 280,5 +25.5 = ?

(A) 1.1 (B) 1.01 @%
© 11 D) 0.11 OFE
ot af, B F-oh v v oy e @
waftra B 7

(A) 271 (B) 272

(C) 273 (D) 270

ST qof K |

187t 8t 21!

(A) 29 (B) 31

(C) 33 (D) 27

7@ e oy e w1 e R O e A %
3 et % gt Premn smar § | P s | s

e e e w7
9 3
(A) 7R B) 7R
5
(C) R (D) R
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FE 8 | -
(A) i'ﬂf@‘"' (B)
(C) Frafa (D) M wfEn

w fifRm st #, MONEY % %2 68, RACE %1
T2 85, M FUNGI® ____ ¥ ¥ % e %0 |

(A) 79 (B) 83

(C) 85 (D) 78

o arerare 70 Uit & frg 30 At o
1350 #hetqy A @ga et & | 28 R
1710 ¥t qu fora Affrat o wa €ft ?
(A) 85 (B) 95

(C) 105 (DK 59

e A S 8 W g

bl

(A) 30 (B) 42

(C) 35 (D) 37
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61,

62,

63.

64,

67.

68.
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%

d 'I"cchnology
Managcmcm

te of Food Technology
nlreprcncurship and Management

Which is not the Aadvant

age of E-Commerce 7
(A) Incrcascd Prices

(B) Low Slart-Up Cost

(C) Globa] Market Place

(D) 24 /7 Accesg

Rcccnﬂ} Minis of road,
transpory and lughways launched EE
& 8cheme for "Goo Samaritang” W
under Which, g cash awarq of %E)
Rs wil

. be Provided per
accident, 1o those saving the life of a
road acciden victim,

(A) 2,000 (B) 5,000

(C) 10,000 (D) 1,000
India ; New Delhj ; . Gcrmany b
(A) Parig (B) Frankfurt
(C) Berlin (D) Munich
How magn

Y S' are there in
Sequence whyj

ich are preceded by 3 but not
followed by 8 ?
45832 73

5]78935831352
(A) 3 (B) 2
(C) 1 (D) 4

Blerm in the following serieg
QPO, NmL KJ1, , EDC
(A) CAB (B) UKL
(C) GHj (D) HGR

(A) 3 January

(B) 22na September
(C) 12w Decembey (D) None of the aboye
If a, b, C, d, e are fiv

e Consecutiye odd
numbers, their average ig
(A) abcde (B) 5(a + 1y Ctd+e)

5
(C) a+4 (D) 5(a + 4)

62.  FH-u1 §-Fhre 1 7y Tt § 7

63,

TS

61.

(A) 3 g7 e
(B) 9 A91ifirF wmmey
(C) & s zomg

D) 24/7 T4 (Ywira)
mmﬂm.mmwmw
Hﬁﬂu"%mqmﬁwﬂsﬁﬁ.ﬁﬂ%mm
m%mwﬁmmmﬁmm
_____ur&mrmgrmm%maml |
(A) 2,000 (B) 5,000

() 10,000 (D) 1,000
W : 7 st | AL

(B) 22 fysan |

(D) v % & wrd ol |
mmﬁwm!-“"mf
(A) -—Eab;d" (B) Sa+b+c+drel |

(€) a+q (D) S(a + 4)
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70. Indrad han

71.

72.

73.

76,

0,
9 TAE;/ESISOO-c-OS% of640-?
© 1125 B) 11,75

ush joi

(A) Air-to-watey. Indiq
(C) Air-to-gi (B) Aif“to-]
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griCL‘lltu'ral P
Conﬂmittec Olyhoyge Management
(B) Agriculturg)

P .
Ommittee ' ©PARAtion Managemen

" c
Ommittee ¢ M8Nagement

Ramesh Started fro i

South and u-awellec:lrgl l?ml.x;;-xnctn Alk-letcmfrda
right and travelled 2 km, then he turggg
right and travelled 5 km, then he turned left
and travelled 5 km, H

point A ? oW far was he from
(A) 17 km (B) 15 km
(C) 5 km [D) ” km

The duration o

n of basic training course for
constables is

(A) 9 months (B) 15 months S
(C) 18 months (D) 6 months RS

Pradhan Mantri Kisan Urja Suraksha evam

Utthaan Mahabhiyan (PM-KUSUM) Scheme
was launched by

A) Ministry of Jalshakti
((B)) Ministg of New and Renewable Energy
(C) Ministry of Social Welfare

(D) Ministry of Coal

PowerPoint provides a range of screen views
for creating a presentation. They fr:

(A) Both (B) and (C) (B) Slide Sorhe o
(C) Normal (D) None of the

What is the new per transaction feiling
announced by RBI for Indo-Nepa

Remittance ? o
B) Rs.
[(é; E:. g {:gll:}l: [(D; None of the above

tion betwe fek,
Inacoelll:cgl?c’l;:zc got 55% of tlrilﬁvzclzit;l l}r i
by ere .
votes W . ;
:Ott:l& c}ti?v\?:r;hfSZOO, what is the numbe
0] v

idate got ?
h her candi
of valid votes the ot B) 7106

en two candidates,

G se9 ((D; 8360
(C) 581

=

69,

70,

71.

72,

73.

74,

78.

76.

7.

CMMS - g5
800 = 4,5% 4+ 640 =7 0.5% = 7
(A] 12 (B) 11.75
(C) 11.25 (D) 112,08
mmm%.%mhwﬁwm!
(A) 3T & w1 (B) =g & vify

QA (o) w2
Q. um. e, =1 wrerern 3

(A) @Wﬂ?&mﬁqﬁzm

(B) Wftehe=ret e Hrerifa wfers

(C) Tttt ez Atz wh

(D) MW@WW

T 3 7 firg A B 2o ) i e 3 B ot
SMW]ﬁﬂmwgww1hm

W5leh%mesﬁmﬁmm
firg A & et g om 7

Bl

e

(A) 17 feht (B) 15 Rt

(©) 5 (D) 7 s

TR ¥ SO ST raamm o) vty 3
(A) 9 wTe (B) 15 e

(C) 18 5y (D) 6 uTR

T R St g o e T

e -ggm) Ao qogwdrnd |
(A) EEISE! ,
(B) T Tl Teftameofty st stamera
(C) wreTRieh Femor HaTer
(D) wYael HaTera
T G Sfy o % R wh et ) o
Mammgﬁaﬁ] i
B Q) (B) &gy
([g;;’féﬁ ( (D) I 8 ) =g el
v -Aurel % frg ot amd. g wfva o wfy
A Sy wfe w7

(A) & 2 @@ (B) %. 4 ®t@

(C) ¥. 3 wrE (D) IR ¥

3t Iwfiear & sfter o wiete & e ¥, u IniEn
1 gt AY WA W 559 NI §IT | 15% W Ay

¥ | 7R e 7 15200 Q, @ 31 IR R B Ay
et Y v R R 7

(A) 6840 (B) 7106
(C) 5814 (D) 8360
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78.

79.
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Vernalisation i
treatment ?

(A) Ethylene
(B) Gibberellin
(C) Auxins
(D) Cytokinin

wing 8t

i follo ;
Consider the s B india.

Poverty line estimat :
I. In India, a subsistence Jevel of

minimum level of food :-t:qu:rv;-,::::él
clothing, fuel, medical requirc hec
etc., are determined for estimating
poverty line,

11. The accepted average ¢
requirement in India i8

per person per
2100 calories per person per day in

urban areas,
Choose the right option given below.
(A) Only the statement (lI) is correct
(B) Both the statements (1) and (II) are
correct
(C) Both the statements (I) and (II) are
incorrect
(D) Only the statement (1) is correct

alorie
2400 calories

Find the missing number.
963 2 844 :l? !
464 | 7 | 903 .
(A) 2 (B) 25
(C) 66 (D) 1

The sum of al
and 300 is I odd numbers between 2
(A) 25100

(C) 12500

(B) 51200
(D) 25000

Exoskeleton of cockroa,
plates called ch has hardeneq

(A) Sclerite

(B) Chondrat;
(C) Cuticle ratin

(D) Chitin

The parameter d :
i ot s used to recognize region 83 é;lgﬂim (D) fufes
(A) Species evenness (B) Ar i ﬂ?‘mﬁ%

’ ea w9 4 qsﬂlqﬂ‘%%‘lm
(C) Shape of habitat (p Endemigm ’I‘:)%
Which gmoqg l_ht: 1'uljgwing Speci (C (B) ﬁi’
most diversity 7 cles hag ) STy 6y ot
(A) Mammalia (B) Fungj 84, ﬁtq%ﬁga (D) "
C) Fi
(C) Fishes (D) Amphibiay " mwmﬁf ﬁﬁ%ﬂﬁﬂﬂf&ﬁﬁﬁm

(C) WOy (B) W
-12. (D) 3=
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atements about

he

day in rural arcas and

00
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79.
e fram Bt |
[, e 3 v Y@ T ST Ty 5

fora, ier ) STEATTH, B, i

a1 =g Teve & P b e g
11, v # e oftma e

it & wfr =aflRr o R 2400 4 4
et

et ot 3 ¥ =i ¥ 9 2100

(A) Fae For (1) v B

(B) e (1) ofy (11) 9 vt §

(C) e (1) 3 (1) ST e et

(D) ¥t Feo (1) Teh }
80. W & A K |
963 2
464 ?

(A) 2
(C) 66

844

903
(B) 25
(D) 1

81. 200 3R 300 ¥ sty it fww deaatiFrant

(A) 25100
(C) 12500

(B) 51200
(D) 25000

T e o i

) Tt (B) ®igfA

e #f Trtvaft Yt % m%tﬂ‘ﬁﬁqﬁ .




"

gs. [nward Foreign Direct [y,
(A) Not generate jobg
(B) Takes away jobs
(C) Stop CXiSting joba
(D) Generate jobs

Consider the followi

‘ : ng sta
Vc;n?g Rights provided bytslrﬂeggsn about
. In our country, al] the Citichss;Igt:émn'

21 years and
abovc
election, can vote in an

II. Some criminals ang
unsound mind can
to vote, but only in

Choose the right option given below

((g]) gng; ttil}lc statement (I1) is correct

) e sta
ks tements (I) and (I1) are

(C) Eoth the statements (I) and (1) are
incorrect

(D) Only the statement () is correct

86.

Persons with
be denied the right
rare situations,

87. Who among the following having sole

authority to issue banknotes in India ?
(A) State Bank of India

(B) Reserve Bank of India

(C) Government of India

(D) None of the above

Consider the following statements about

web portal e-GOPALA. -

I. It has been launched by National Dairy
Development Board (NDDB).

I1. It let farmers manage livc:.stock '

including buying and selling of disease-

free germplasm in all forms.

Choose the right option given below.

(A) Both the statements (I) and (I1) are

correct '
(B) Only the statement (I1) 18 correcctt
(C) Only the statement (I) is corre

(D) None of the above

Aliphatic amines are stronger bases than
ammonia due to of alkyl groups.

- | effect
1 (A) - E effect (B) 1
| (C) + 1 effect (D) + E effec

) 25

ana gy,
Bays p,

CMMS - 85

'SHEET

o areft frdeft weges Fern (wh. &k,
(A) VST g e et B
(B) TSR & et B
(C) e s R A el B
(D) AR g Feft B
R i T T o e sl 36
Prefafts Fuat m fem =t |
I &R A ¥, 21 9 ofv 3 stfires 3mg F @l
iR TATE H TR W EwR € |
11, A et get it 2 35 srvn ok
Rt o aY w0 A 23 3 iR
frerferfas # & W forea 1 T A |
(A) e Fo (I1) 9E @
(B) e (1) 3P (11) 2w &
(C) U (1) 3 (11) B w7 &
(D) ot F9F (1) Gé B

Foraferfiaa § & fre g vra § ¥ Fe Sl FE
T AfER R 7
(A) SR W2 q6
(B) Wit fed e
(C) ¥d "R
(D) 3T A | 8 AL
Ao e §-TiaTer & waE § Frfeiead FeEi o e
i |
. T8 TSR ¥k e S (NDDB) 2RI o TR |
11. 7 Fweh! 1 avlt w7 e o e e
3R e i T W O AR
e 3 @ vl R w1 S |
(A) Y (1) TR (11) T T ®
SEE  (B) hae wuA (1) TR
%"é (C) et e (1) W
(D) I | F Hg TR
g9, ufthfem anfiw, arforn & arfire wiRmeh am €,
Wi 3 orewhrtel s A & |
(AL B RN (B) - 1 SV
(C) +1a¥m (D) + E SV

90, MWd H I e} Y el weA ¥
(A) 21 (B) 25

Inda,

8t (N

Ry

S i

88.

Total number of High Courts in India is
g™ B

(D) Noné of the above

(C) 23 (D) Iver o & g T
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91.

92.

94,

98,

English Language |
owing !
Give one-word substitute for the ft:g W
Holding fast or keeping firm ho
object or principle.
(A) Tectotaller
(B) Tenacious

(C) Tendency
(D) Tactile

Fill in the blank with appropriate words from
the alternatives given below it.

I did not give him butter.

(A) fewer

(B) a few

(C) any

(D) some

Choose the right antonym of the word given
in Capital Jetters from the alternatives given
below it
TAINTED
(A) Failure

(C) Bigotry

(B) Bold
(D) Pure

In this question, there are four alternatives
following & worg or phrase given ag the key
term. One of the alternativeg best explaing
the meaning of that word or phrage, Spot
the correct alternative,
Wily

(A) Cunn:’ng

(B) An
(C) Wise 4

(D) Stupig

Indirect / Direey speech,
“How clever of you (g have gg),,

80 quickly!” said (he masley, the Puzzle
(A) The Mmasler shouted that

the Puzzle g quickly, had Solved
(B) The magier Was Blunneq g, he hag

solved Cleverly the Puzgle,
(C}) The Master Cxpressed thgy h

clever CRough 1o polye the p

quickly Haele g

Cm

et v M“*a,
96. f@ﬂwm?ﬁwqﬂ’r!’rmp
VRTRTSr T JaTeTOT & |
(A) ¥
(B) #F-BF
(€) ot
(D) ¥ & =rd el
97, muﬁ&ﬁaﬁwﬁaﬁ_ﬁmg,
(A) Tgva
(B) faeprtt
(C) T
(D) weEH

98, w:q‘m%aa?ﬁ'amﬁﬁémi?

(A) wmwwwmmtm
tmrﬁ ia:miﬁﬁawt

(B) wmmﬁmmﬁrﬂw%m.w
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